
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 3rd Day Unit # 1

Q.No.1. Choose the correct option. (0.5 × 6 = 3) Šg„WB»ZN[™,X

i) What is the product of 65 781 and  100?     »»»»qqqqÝÝÝÝ¢¢¢¢[[[[HHHHìììì???? 65 781 ZZZZzzzzgggg 100

(a) 657 810 (b) 657 108 (c) 6 465 781 (d) 6 578 100

ii) Divide 66 693 by 33, we get:                         6666,,,,„„„„™™™™ääääÐÐÐÐqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì::::  33ÃÃÃÃ 66 693

(a) 2 021 (b) 2 023 (c) 2 024 (d) 2 025

iii) What are the next three terms of the patterns? 180,165,150

 150,165,180 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSSHHHH÷÷÷÷????
(a) 130, 115, 100 (b) 135, 120, 105 (c) 140, 125, 110 (d) 135, 125, 115

iv)  10 × _________=10 000

(a) 1 (b) 10 (c) 100 (d) 1000

v) The next three terms of the patterns are:2,4,8,16

16,8,4,2 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSS÷÷÷÷::::
(a) 32, 64, 128 (b) 32, 64, 126 (c) 34, 68, 132 (d) 28, 56, 112

vi) The product of 356 and 12 is:               »»»»qqqqÝÝÝÝ¢¢¢¢[[[[ìììì:::: 356 ZZZZzzzzgggg 12

(a) 4 125 (b) 4 272 (c) 4 375 (d) 4 372

Q.No.2.What are the rules for these patterns? Also find the next three terms.

(1 × 3 = 3) ZZZZyyyy%%%%ââââVVVVÆÆÆÆHHHHZZZZßßßßwwww÷÷÷÷????2222%%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSS¥¥¥¥xxxx™™™™,,,,XXXX
  18,90,450,2 250,_____,_____,_____.

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

Q.No.3.Find the patterns in the given arithmetic sentences and complete

them. (2 × 2 = 4)

ŠŠŠŠbbbbƒƒƒƒññññˆ̂̂̂!!!!ÓÓÓÓVVVV~~~~ZZZZßßßßwwww¥¥¥¥xxxx™™™™,,,,ZZZZzzzzgggg¿¿¿¿åååå™™™™,,,,XXXX

(i)    ________÷ 100 =  100

(ii) 10  ×  ________ =   1000

Q.No.4. Solve : (1× 2 = 2) iiii™™™™,,,,::::

(i) 25 111 ÷ 69
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